Second quiz Math218 (Differential Calculus_
- First Semester 2021-2022- Duration 45 min
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Q1: a) Find rectangular coordinates for the point has polar coordinates (4, —3—) (2 marks)
r—4 , B=28
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b) Find polar coordinates for the point that has rectangular coordinates (2,-2)
x=2 . Y=-%
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Q2: Write the complex number z =1+ in polar form and find (1+i)m

(2 marks)
x=4 . Y= A
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Q3: Find the limit, if there exists: (3 marks)
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Q4: Show that lim X _

=0. (1 mark)
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Q5: Find an equation of tangent line for the curve y =Inx at the point P(e l) (2 marks)
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